S. No. 02

DISTRICT MUNICIPAL CORPORATION (KORANGI) KARACHI. SHAH FAISAL ZONE.

Estimate Cost:

Rs: 9, 96,889/-

2% Earnest Money:

2 % Quoted Amount

Tender Cost: Penalty Per day: Rs: 3,000/-

Time Limit:

Rs: 3,000/-01 Month

Subject: <u>Improvement of Boundary wall in Azam Foot Ball Ground in UC., No-1 Shah Faisal Zone D.M.C Korangi.</u>

S.NO.	DESCRIPTION OF WORK	Quantity	RAT	E	AMOUNT
1.	Earth work excavation in foundation of				· · · · · · · · · · · · · · · · · · ·
	buildings.	7160 Cft	1361.25	% cft	9,747/-
2.	Cement concrete brick on stone ballast 1.5				
	to 2" gauge 1;4;8.	2350 cft	9416.28	% cft	2,21,283/-
3.	Reinforcement Cement concrete work i/c all				
	labor (a) RCC work in roof slab, beam				
	column rafts and other structure members				
1	laid in situ or pre cast laid in position			ŀ	
	complete in all respect. (i) Ratio 1;2;4	863 cft	337/-	P/cft	2,90,831/-
4.	Fabrication of Mild steel re enforcement for		!		
	cement concrete i/c cutting, bending, laying				·
	in position, making joints & fasting i/c cost				
	of binding wire etc.	38.52 cwt	5001.70	P/cwt	1,92,666/-
5.	Providing and laying topping cement				
	concrete (1:2:4) including surface finishing				
	and dividing into panel 2"				
ļ	thick.	2000 Sft	3275.50	% sft	65,510/-
6.	Providing & laying 1:3:6 cement concrete				
İ	solid block masonry wall 6" and below in				
-	thickness set in 1.6 cement sand mortar in				
	ground floor super structure including				
	raking out joints and curing etc. complete				
	more than 6" think (22/23)	1375 Cft	15771.08	% cft	2,16,852/-

Open Rate Rs:
ondition of the Contractor.
Contractor Signature
Address
_

Deputy Director (Parks) Shah Faisal Zone D.M.C Korangi

Re four

Sr. Director (Parks)
D.M.C Korangi

S. No. 01

DISTRICT MUNICIPAL CORPORATION (KORANGI) KARACHI. SHAH FAISAL ZONE.

Estimate Cost:

Rs: 9, 96,830/-

2% Earnest Money:

2 % Quoted Amount

Tender Cost: Penalty Per day: Rs: 3,000/-Rs: 3,000/-

Time Limit:

01 Month

Subject: Repair/Maintenance of Different Parks in Uc, No-1 Shah Faisal Zone D.M.C Korangi.

S.NO.	DESCRIPTION OF WORK	Quantity	RATE		AMOUNT	
1.	Dismantling cement Block masonry etc.	125 Cft	1134.38	% cft	1,418/-	
2.	Dismantling & Removal of CC 1;3;6	480 Cft	1306.80	% cft	6,273/-	
3.	Earth work excavation in foundation of		•			
	buildings.	2200 Cft	1361.25	‰ cft	2,995/-	
4.	Cement concrete brick on stone ballast	_				
	1.5 to 2" gauge 1;4;8.	1300 cft	9416.28	% cft	1,22,412/-	
5.	Cement concrete plain including placing	•				
	compacting finishing and curing					
	complete (including searching and					
	washing of stone Aggregate) without	1050 Cft	14429.25	% cft	1,51,507/-	
	shuttering. (18/5) Ratio 1:2:4	1030 CIt	14429.23	/0 CIL	1,51,507/-	
6.	Exaction of removal of centering of RCC for plain cement concurrent work					
	of portal wood vertical.	2100 Sft	3127.41	% sft	65,676/-	
7.	Reinforcement Cement concrete work	2100 010	D12::: V2			
''	i/c all labor (a) RCC work in roof slab,					
İ	beam column rafts and other structure					
	members laid in situ or pre cast laid in					
	position complete in all respect.					
	(i) Ratio 1;2;4	216 cft	337/-	P/cft	72,792/-	
8.	Fabrication of Mild steel re enforcement					
	for cement concrete i/c cutting, bending,					
	laying in position, making joints &		E001 E 0	TD/ 1	20.5621	
	fasting i/c cost of binding wire etc.	7.71 cwt	5001.70	P/cwt	38,563/-	
9.	Providing and laying topping cement					
	concrete (1:2:4) including surface	i				
	fir ishing and dividing into panel	4000 Sft	3275.50	% sft	1,31,020/-	
	2" thick.	4000 811	3213.30	70 811	1,51,020	
10.	Cement plasters 1:4 up to 20 feet height.	1460 Sft	2283.93	% sft	33,345/-	
		1400 510	2205.55			
11.	Painting with enamel paint on masonry (plastered) tow coats (Old Surface).	600 Sft	1014.14	% Sft	6,085/-	
12	Distempering two coats with distemper					
12.	of app; quality and shade, i/c priming					
	ceat. (Old surface)	2600 sft	602.25	% Sft	15,659/-	
13.	1 (0 1 0 1)					
13.	free from salts, pebbles, suitable for					
	plants brought from app: query near					
	Noori Abad, i/c loading, carriage, un-	<u> </u>			<u> </u>	

	lording at site of work and spreading in even layer of req: thickness to proper level as required/ directed by concerned			
	Officer in charge.	2640 Cft	35/- A/R P/Cft	92,400/-
14.	cow dung i/c mixing in earth, laying spreading in even layers of req:			
	thickness as required/ directed by concerned Officer in charge.	2300 Cft	30/- A/R P/Cft	69,000/-
15.	Providing of Dhaka grass and trufing lawns i/c watering and cutting at least once after growing up more then 3			
·	inches.	1554 sft	15/- A/R P/Cft	23,310/-
16.	Providing supplying and spreading in even layer of required thickness red murum of approved quality from app;			
	query as desired by Engineer In charge	1875 Cft	45/- A/R P/Cft	84,375/-
17.	Repair/Maintenance of Steel grill using solid aqr, bars of size 1/2" thick i/c welding & fixing of door/window any			
	type 2 coats painting & direction of			
	Engineer In charge etc.	800 sft	100/- A/R P/Cft	80,000/-

And also shall undertake to abide by prescribed	nd also shall undertake to abide by prescribed terms and condition of the Contractor.			
	Contractor Signature			
	Address			
				
of breed	Ma			

Deputy Director (Parks) Shah Faisal Zone D.M.C Korangi Sr. Difector (Parks) D.M.C Korangi

DISTRICT MUNICIPAL CORPORATION KORANGI KARACHI.

SHAH FAISAL ZONE

Estimate cost:

9,99,168/-

2% Earnest money:

2% Quoted Amount

S.no.03

Tender Cost: Penalty Per Day: Rs. 3000/-

Time limit:

Rs. 3000/-01 month

Subject: Repair / Maintenance of different parks in Uc no 2 Shah faisal Zone DMC Korangi

S.no	Description of Work	Quantity	Rate	Amount
1	Dismantling cement block masonry etc.	125	1134.38% cft	1418/-
	Earth work excavation in foundation of buildings	2200	1361.25% cft	2995/-
3	Cement concrete brick on stone ballast 1.5 to 2" gauge 1:4:8	1300	9416.28% cft	122412/-
4	Cement concrete plain including placing compacting finishing and curing complete (including searching and washing of stone aggregate) without shuttering. (18/5) Ratio 1:2:4	1050	14429.25% cft	151507/-
5	Erection & removal of centering of RCC for plain cement concurrent work of portal wood vertical	2100	3127.41% sft	65676/-
9	Providing and laying topping cement concrete 1;2;4 including surface finishing and dividing into	4000	3275.50% sft	131020/-
	panel 2" thick.	1460	2283.93 % sft	33345/-
10	Cement plasters 1:4 upto 20 feet height. ½ thick Painting guard bars, gates, iron bars, gratings, i/c		896.39% sft	
11	braces and similar open work. (76/4d) 2 coats Painting with enamel paint on masonry	600	1014.14% sft	6085/-
12	plastered two coats old surface Distempering two coats with distemper of app:	2600	602.25%Sft	15659/-
6	quality and shade, i/c priming coat. P/Fixing Industrially manufactured kurb block of size 18x12:6 having Strength of 4700 psi, fixed in proper alignment and lavel on 2" thick base of 1:4	130.0	297.01 /R4	38611/-
			337/CFT	72792
7	Reinforcement cement concrete work I/C All lab our	216.00	35//CF1	,

7	Reinforcement cement concrete work I/C All lab our (a) RCC Work in roof slab beam column rafts and other structure members laid in situ precast laid in	216.00	337/CFT	72792
13	position completed in all respect (i) Ratio 1,2,4 S/S Approved Sweet earth (Garden Soli) Free From Salts ,Pebbles ,Suitable For Plants Brought From App: query near noori Abad i/C loading Carriage ,un loading at side of work and spreading in even layer of rec: thickness to proper level as required	2640.00	35/CFT	92400/-
14	/directed by concerned Officer in Charge S/S and Spreading Appr: Well Decayed cowdung i/c mixing in earth, laying Spreading in even layers of req: thickness as required /directed by concerned Officer in Charge	2300.00	30/CFT	69000/-

7.6	Providing of Dhaka grass and turfing lawns i/c	1554.00	15/SFT	23310/-
15	watering and cutting at least once after growing up more than 3 inches		·	
16	Providing supplying and spreading in even layer of required thickness, murum of approved quality from app: query as desired by engineer in charge.	1875	45 cft	84375/-
8	Fabrication of mild steel reinforcement for cement concrete i/c cutting bending laying in position making joints 7 fasting i/c cast of binding wire etc.	7.71	5001.7 cft	38563/-
17	Repair maintenance of steel grill using solid square bars of size ½ & ¾ thick i/c welding 4 fixing of door / window any type 2 coats painting etc.	500	100/ sft A/R	50000/-

I/we hereby quoted the total amount for items on open rate

d also shall undertake to abide	by presented terms	
	•	
		Contractor Signature

Address_____

Deputy Director Parks

Shah Faisal Zone DMC Korangi

Sr. Director Park DMC Korangi